Step 8, 2 stars Varied Fluency

Step 8, 2 stars Reasoning
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4a. Various answers: for example:
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5a. ﬁ is the mistake because it is

equivalent to 4 which is less than 4 %
éa. Archie is comrect because the numbers
are ordered from smallest ( %] to largest
(7 %} and his number (g %} comes in

between the two numbers.

Step 8, 3 stars Varied Fluency

Step 8, 3 stars Reasoning
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7a. Various answers; for example:
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8a. 80 s the mistake because it is
equ?\?alent to3 %which is less than 3 %
?a. Jason is comrect because the numbers
are nrderer.l from smallest (2 —] to largest
(3 } and his number (2 1—} comes in

bem'een the two numbers.




